
https://molin-mathematiques.fr

Équations - inéquations

Résoudre les équations et inéquations suivantes sur R.
1 Cas simples

Exercice 1

1. x3 + 4x = x2

2. (x− 3)3 = 8

3. x(x− 1) = (x− 1)2

4. x4 − 4 = (x2 − 2)2

Exercice 2

1. x2 ≤ 1

2. x(x+ 2) ≤ 3

3. (x+ 3)4 ≤ 4

4. x3 + x2 ≤ x+ 1

5. x(x− 1)− 2 ≥ 8(x− 2)

6. (x− 1)2 < x− 1

Exercice 3

1.
x+ 1

x+ 2
≤ 0

2.
x+ 1

x+ 2
≤ (x+ 2)

3.
x2 + 6x+ 4

x
≤ 2

Exercice 4

1. 2x4 − 8x3 + 12x2 − 8x = −2

2. x3 − 2x− 1 = 0

3. x3 + 2x2 − 15x = 0

2 Valeurs absolues

Exercice 5

1. |x+ 1| = |x− 1|

2. |x2 + x| = |x+ 1|

3. |x2 + x+ 1| = |x+ 1|

4. |x2 + x+ 1| = x+ 1

Exercice 6

1. |x+ 1| ≤ 2

2. |x2 + x| > 0

3. |x2 + 2x− 2| ≤ 1

4. |x2 + 2x− 1| ≥ 1

5. |3x2 + 7x+ 4| ≤ 3x2 + 5x+ 10

6. 3x2 + 7x+ 4 ≤ |3x2 + 5x+ 10|

3 Divers

Exercice 7

1.
√
2x+ 4 = x

2.
√
2x+ 4 ≥ x

3.
√

x2 + 2x− 1 =
√
x− 2

4. ln(x2 + x− 1) ≥ 0

5. ln
(
x2 − 6x+ 9

)
= 2 ln(x− 3)

6. x
√
x = (

√
x)x

Exercice 8

1. ex + e−x = 2

2. ex + e−x > 0

3. ex
2

− e−x > 0

4. ex + e2x > 2

5. ex > x+ 1

Exercice 9

1. bxc = x

2.
⌊√

x2 + 1
⌋
= 2

3.
⌊√

x
⌋
=
√
bxc

Exercice 10

1.

{
ex e2y = a

2xy = 1

2.

{
2 lnx y + 2 lny x = −5
xy = e
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